
1. On-wall installation

R29X
Rain Cover Installation Guide

Combine the wall-mounting box with the rain 
cover and mark the six mounting hole positions 
on the wall. Drill the holes and insert the six 
plastic wall anchors into the holes according to 
regular device installation requirement. Then 
tighten the combined rain cover and the box 
securely on the wall using the six tapping 
screws (ST4x20).

Install the device on the wall-mounting box , 
press down the device and make sure that the 
two hang holes on its top are fully hanged on 
to the two square hooks on the top of the box, 
then tighten the two countersunk machine 
screws (M3x6) underneath the device using 
the Allen wrench attached with the device. 

If the device cannot be easily hanged on to the 
square hooks, loosen the six cross screws 
(ST4x20) slightly, move up the rain cover a 
little bit to increase the clearance between the 
rain cover top and the box top. Then retighten 
the six screws before installing the device.

Installation completed.



AKUVOX (XIAMEN) NETWORKS CO., LTD.
ADD: 10/F, NO.56 GUANRI ROAD, SOFTWARE PARK II, XIAMEN 361009, CHINA
www.akuvox.com

Notice Information

Information contained in this document is believed to be accurate and reliable at the time of printing. This document is 
subject to change without notice, any update to this document can be viewed on Akuvox’ s website: http://www.akuvox.com 
© Copyright 2020 Akuvox Ltd. All rights reserved. 

R29X
Rain Cover Installation Guide

2. In-wall installation

Install the embedded box on the wall according to 
its installation manual. Combine the flush-mounting 
bracket with the rain cover before tighteninig them 
securely on the wall using the 6 screws(M4x10) 
attached with the device.

Install the device on the flush-mounting bracket, 
press down the device and make sure that the two 
hang holes on its top are fully hanged on to the two 
square hooks on the top of the box, then tighten 
the two countersunk machine screws(M3x6) 
underneath the device using the Allen wrench 
attached with the device. 

If the device cannot be easily hanged on to the 
square hooks, loosen the six socket head cap 
machine screws (M4x10) slightly, move up the rain 
cover a little bit to increase the clearance between 
the rain cover top and the bracket top. Then 
retighten the six screws before installing the 
device.

Installation completed.


